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imple: The average temperature for Regina is hottest at 27 °C on July 28,
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and coolest at -16 °C on January 10. y o
. a) Write the cosine equation for the graph. '
5' b) DJW .the graph that approximates the temperature curve for the year.
| | €) What is the average temperature expected for October 4? :
I d) The average temperature is higher than 23 °C for how many days?
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a) Whenever there are questions that deal with values over b
an entire year, the period i5 365. ) L !
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c-value: We are starting the graph on January |, so that is
day zero. The maximum value (where the positive cosine mE
graph would begin) is on july 28. C) To find the expected temperature on October
So. the number of days to july 28 1s: first find what day of the year it is.
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2 ' d) Use your TI-83 to find the intersec
points of the graph and the line
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SRS SR tﬂmagttemperame for the Edmonton region is 24 °C, and occurs on J
a1 Wit ot average temperature is -16 °C, and occurs on January 14.
- @) Write a cosinc equation for the graph. T
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©) Draw the graph that approximates the > 204 ¥
temperature curve for the year. -l = 4 > Vo
10l oot 0°C .
i
c) What is the average temperature expected for d) The average temperature is below 0*C for how
November 47? %, oy many days?
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2. The following table gives the average recorded monthly temperature throughout the vear.
(Use month number for the x-axis. eg. April is x = 4).

 Month | Jan | Feb | Mar | Apc | Mar | June
| Temp | -17

a) What is the amplitude (Based on coldest & warmest months) and period of the function?
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b) Wrile a cosine equation for the graph.



